| Efficiency vs Dxy |
=0.01
O . . . . . . . . .
000 e 1] G S R
< (| S
@08—----%------% ------- | ] R R Ay AR
@ S A H
O e A | | SR L S A
© : : P : P : :
0.006 it dee s d et
T
000
0003

.................... PR { e

=
TTTTTTT1]
-

0 E=50-15-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_mkFit_TToriginal
[Efficiency vs Dz | |—s— DQM_mkFit_TT_JanUpdate-noErr

—— DQM_mkFit_TT_JanUpdate-noErr1H
10.02 : : :

ITERTRTENTI | IR B T B A R
—--meeeeees FEREREEEEY - $io PR [ 7o oo ee e

©
(2]
[
»
ry

30 20 <10 0 10 20 30
TP dz (cm)




	Contents
	Page 1


